N

A 17-905 DP-4D-1
AA D E LTA MORTISING ATTACHMENT Part No. 1340898

A Pentair C
entair Company Revised: 4/15/96

%EABIMBEBD.ES.QBLEIIQN

* 17-905 MORTISING ATTACHMENT, CONST OF;
1 1340860 14" ADAPTER RING SET

1 1340861 15" ADAPTER RING SET

1 1340862 10" AND 12" ADAPTER RING SET
2 1340858 HOLDER

3 1340863 5/16-18 X 2 1/2” SPECIAL SCREW
4 1340864 5/16-18 SPECIAL NUT

5 1340635 KNOB W/STUD

6 1340857 ARM

7 902-04-010-1403 5/16-18 WING NUT

8 1340637 (DIN 9021) M8.4 FLAT WASHER

9 1340854 ROD
10 1340851 HOLDER
1 1340856 ROD
12 1340850 FENCE
13 1340853 5/16-18 X 4" SQUARE HD SCREW
* NOT SHOWN ASSEMBLED

STANDARD SAFETY EQUIPMENT
in order to promote tool safety, Delta International Machinery Corp. strictly enforces the policy of repairing or replacing any damaged or missing standard
safety equipment on machines presented to Delta Authorized Service Centers for service/repair. Any product which is presented to a Delta Authorized
Service Center for repairs which contains missing or damaged standard safety equipment will have that equipment repaired or replaced and the customer
will be charged for any such service/repairs. Customers can avoid such charges only if the missing safety component is supplied to the service center at
the time of repair.

This parts list is provided to aid in obtaining service parts. Copies of the instruction and maintenance literature can be obtained through the Delta

Technical Publications Department or through your local service outlet.

Page 1/DP-4D-1/FPB
Printed in U.S.A.




